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Paper 11

IR forar

gyTufareRt I1
Time Allowed : 120 Minutes] [Maximum Marks : 200
Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

GOAr : I YTAUehd THUT AT (100) SgIar g9 ol 3ed. Joieh 9earen & (2) U0

3T, T UYA Hredl.

Which of the following Philosophies
of physical education is also known
as Experimentation ?

(A) Existentialism

(B) Realism

(C) Pragmatism

(D) Electicism

Which disability requires focus on
muscle strength and flexibility in
adapted Physical Education ?

(A) Visual impairment

(B) Autism spectrum

(C) Cerebral palsy

(D) Learning disability

The cash prize given to the winner
of Arjun Award is :

(A) 5 Lakh

(B) 10 Lakh

(C) 15 Lakh

(D) 20 Lakh

IR RreTome Erefietent v awo=
YA WA Sl e S ?
(A) AfETEER

(B) <m&qed]

(C) AR

(D) HRUE

FHIVCAT STATETHIS! TR a R
freromHed FET dehe ST SrafeehRdl
IER AL higd HI0 IR IS ?
(A) gfteg™

(B) siffesm A

(C) W drest

(D) TRt STema

39 R fosreamen et som @
RS T e

(A) 5 =

(B) 10 <@

(C) 15 <@

(D) 20 om@
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In which Olympic Games Israeli

Team was attacked by terrorists ?

(A) 1968

(B) 1972

(C) 1900

(D) 1980

The exact duration for the Summer

Olympic Games is fixed :

(A) 18 days

(B) 16 days

(C) 15 days

(D) 20 days

Match the following theories of

Play :

List 1

(@) Surplus Energy Theory

(b) Recreational Theory

(c) Instinctive Practice Theory

(d) Psycho-Analytic Theory

List II

(z) Play is the result of an aimless
expenditure of surplus energy

(i1) Instead of discharging the
surplus energy through play
activities play rebuilds it

(i) Insticts are the prime movers of
behaviors of both men and
animals

(tv) Play is medium of outlet for
anxieties, tension, conflicts,
frustrations etc.

Codes :
(@ b)) @ @

A @ @) @) (o)

B) @G @) Gv) @

(C) Gu) vy @ @)

D) Gv) @ G @)
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(A) 1968

(B) 1972

(C) 1900

(D) 1980

SET@t Srffaftus W=gEEdt Fg®T

B hroeet fAfy=a %

(A) 18 feag

(B) 16 fga=m

(C) 15 fgem

(D) 20 fead

shisdial @ellel Uil Jeodl :

I |

(@) e e Suusi

(b) HARSHIHS SUY

(c) STA:I0T TE ST

(d) TA-fagersor Iuoxi

et 11

() W2 7 Afalea ei= 3fesefed
Wt gRomy 8Te

(i) Toorsl foramehandig STfaiea St
AT HITATUSSI ST Hs1l Il
TR B

(i2i) D0 & G& S0 Wroft = e
AR A Wedeh ed

(iv) Hier & Toar, quma, ded, fAem

TARTAE! R HI0A AT Y

wE

(@ ) (© (@
A @ @) @GD) Go)
B) @) @) Gv) @)
(C) G Gv) @) @)
D) @) @O @) @)
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10.

Which term is associated with the
economic value placed on sports
events by communities ?

(A) Social Capital

(B) Human Rights

(C) Cultural Diversity

(D) Sports Tourism

Individual difference’s impact on the
ability to learn skills is influenced
by :

(A) Heredity

(B) Environment

(C) Sex of Participants

(D) Heredity and Environment
Which is the most widely accepted
method of education, according to
the pragmatists ?

(A) Lecturing by the teachers

(B) Leaving the child free to learn
(C) Learning by doing

(D) Heuristic method

The Commonwealth Games were
originally known as the :

(A) Empire Games

(B) Global Games

(C) British Games

(D) Colonial Games

10.

JUN - 71225/TI—A
IV HA HHSAGR hieT THEa Sereiedl
smfeieh Yoot wafya e ?
(A) gHIfSI digaa
(B) Hel TR

(C) wrpfass fafaer
(D) el T

(D) STIaRTehar 7T gofere
SATERIehareTe=a Hd, & f¥reom=n daiq
HRTU EhRela! Jgd 38 :

(A) e =T
(B) Haren forepoarard]
(C) w&A fyrepul

(D) BFRfes dsd

Ubgchel Eoo Hood: YT AT HAledE e Sd
;AT

(A) THRER T

(B) Tded =

(C) fofest wes

(D) JHEd ©s

Hiches HISUl
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11.

12.

13.

14.

As ATP is brokendown to ADP to
release energy for muscle
contraction, is broken
down to release both energy and
phosphate to allow reconstitution of
ATP from ADP.

(A) ADP

(B) Phosphate

(C) Cohline

(D) PCr

The conductive modalities are
generally classified into those that
produce a tissue temperature
increase, which is referred as ............
(A) Diathermy

(B) Cryotherapy

(C) Thermotherapy

(D) Ultrasound

Hoffa massage is essentially the
classical massage technique that
uses a variety of superficial strokes
which includes effleurage, ...............
tapotement and vibration.

(A) Petrissage

(B) Deep stroking

(C) Friction

(D) Strissage

When applied intermittently with
compression, rest and elevation it
reduces inflammation and reactive
phase of acute injury the therapy is
called as .....ccceevveeevieeeciieenns

(A) Ultrasound

(B) Cryotherapy

(C) Infra-red

(D) Thermotherapy

11.

12.

13.

14.

JUN - 71225/I1—A

ATP <3 ADP ®& fosed Sed €1y
SRE SR Fore FfHA B ...
& faefed gneam St enfor wiehe Hiches
B s ADP & €9k ATP 93 2ral.
(A) e

(B) ®IThHe

(C) =iefed

(D) W.E.R.

YAEITS & FAETERo: 99 araEe
Frefgquare aHed fqurTelt Sid. g
3 T

(D) eERE

B TTS] B Teh SR UGt ST e
JESHITIORIG STTEd STHATd ohl SATHE
B! MAThR g,
gqerae M1 U = YA shell Sl
(A) 37 foqam

(B) @itk 3TTEd

(C) =refoT

(D) VEHES

= IUAR USd Srel ST Ieared § STaikd
TR AT SITd AT STeosTes shHl Bl
o gfafsharsiial staeen &t B e
T TUrId.
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15. The hormone catecholamine of
Adrenal gland is responsible for .......
(A) Breakdown of glycogen to
glucose in liver and muscle
(B) Synthesis of protein
(C) Utilization of glucose
(D) Maintain blood glucose level
16. Factors affecting the flight path of
an object are .................. , force of
gravity and air resistance.
(A) Projectile
(B) Linear
(C) Popelling
(D) Angular
17. The probable reason being decline
in the neuromuscular function and
relative impairment in the cell
associated with age is ..................
(A) Oxygen consumption
(B) ATP synthesis
(C) Fat synthesis
(D) Protein synthesis
18, e is the term used to describe
the loss of muscle mass associated
with aging process.
(A) Sarcopenia
(B) Ostiopenia
(C) Musclepenia
(D) Mayopenia

15.

16.

17.

18.
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(C) TeehIST= IUFeRId]
(D) A TeehisTel idesl  FE=Ioma

(C) fery ugrafa fagaom
(D) wfoFm= foagarom
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19.

20.

21.

22.

Using sweep shot in hockey, wherein
more force and time is applied
increases more power than hit, is an
example of which principle of
biomechanics ?

(A) Force-motion

(B) Force-time

(C) Range-motion

(D) Time-motion

Just beneath the endomysium, the
fibers are covered by the muscle cell
membrane called as .................

(A) Perimysium

(B) Endomysium

(C) Epimysium

(D) Sarcolemma

In striking activities .............. is most
important factor for producing
striking force.

(A) Final velocity

(B) Average velocity

(C) Average speed

(D) Final momentum

In walking the leg stride occur in
three phases—propulsion, .................
and catch and support.

(A) Mid-stance

(B) Swing

(C) Support

(D) Swing and support

19.

20.

21.

22.
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Bl 38al Heahl (Sweep shot) &t
S §c8 ST A3 AR TheTdal
TRT SR TeRITIET ST 36 § Sifaeh
fommr=n S TEHER Sy ?

(A) Foz-<ciH

(B) F-dcs

(C) IF-=eH

(D) -

TSI @R @ 9T +714
YA STHUAT S Ui SAreRums

......................... W U,

(A) W™

(B) sSMEdeT™

(C) wUmEHIe™

(D) AREhIcHH

aremare fRammed T wmafq
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23.

24.

25.

26.

27.

Lateral arm raise and side bending

is the movements in frontal plane

(A) Sagital

(B) Vertical

(C) Frontal

(D) Both sagital and vertical
Strategy is used for both players
amateur as well as professional.
(A) Emotional skills

(B) Specific task

(C) Both (A) and (B)

(D) Self talk

The id, ego and superego personality
analysis theory is developed by .......
(A) Freud

(B) C. Jung

(C) S. Hall

(D) Allport

Inverted ‘U’ theory is also known as

(A) Eysenck law

(B) Yerkes-Dodson law

(C) Newton’s law

(D) Ericson law

Which is not an Aspirational domain
of motivation ?

(A) Success

(B) Recognition

(C) Purpose

(D) Urge

23.

24.

25.

26.

27.
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BT SIS IV SV HHRGT SISl ehol
T geraret FHRIA a3
Y B,

(A) AfEYdes

(B) 3I99ds

(C) WU Y

(D) i@ snfor 3% <=

RIEE I N e CEl e
= A A,

(A) WTEFATCHE IR

(B) faftre =r

(C) <=t (A) T (B)

(D) ==

33H, 3T A0 YLHTRH SHfHTH forgeteo
fagm I fasfaa et
R

(A) wIES

®) . 7

(C) wH. 7

(D) At

EECCR] A TE A SO A ST

......

(D) e e

TeHTeeht IV IR FEcaTehial shTiarst
TE 2

(A) T

(B) =@

(C) =&

(D) =i
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28.

29.

30.

31.

The incoming information first
enters the :

(A) Tertiary memory

(B) Primary memory

(C) Sensory memory

(D) Secondary memory

The process of forgetting due to the
passage of time and lack of use is
known as :

(A) Repression

(B) Decay

(C) Retrieval failure

(D) Interference

Which type of hypothesis predicts a
relationship between two variables ?
(A) Null Hypothesis

(B) Alternative Hypothesis

(C) Descriptive Hypothesis

(D) Correlation Hypothesis
Classification of the population
based on mother tongue is an
example of :

(A) Geographical Classification
(B) Chronological Classification
(C) Qualitative Classification

(D) Quantitative Classification

28.

29.

30.

31.
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FUME HifEd THH o T Ta9T
EZGH

(A) T T

(B) wafHer Tt

(C) wadt &t

D) fedrr ot

HAE s oA Tl o oo AU
e BT e wfwaE wu
(A) <=9U

(B) &F/HHSIL B0l

(C) STIeTEl AU

(D) T&I&q

I GehTTH] IReheq Tl S TeliAeie
e Wehld i ?

(A) I AT

(B) 9t afehed

o

(C) IuATHS TR
(D) eday Tiehed
AR SMERA SHEEE T §

..................
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33.

A researcher asked 933 people
regarding, what their favorite type
of TV programme was : news,
documentary, soap or sports. They
could only choose one answer. As
such, the researcher had the number
of people who choose each category
of programme ? How should
researcher analyze these data ?
(A) t-test

(B) One-way analysis of variance
(C) Chi-square test

(D) Regression

Given below are two statements; one

is labelled as Assertion (A), and the
other is labelled as Reason (R) :

Assertion (A) : Mode is the most
reliable measure of central tendency.

Reason (R) : The score in a
distribution that occurs with
greatest frequency is called mode.

In the context of the above
statements, which one of the
following is correct ?

Codes :
(A) Both (A) and (R) are true, but
(R) is not the correct

explanation of (A)

Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

©)
D)
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32. TehT HINHHM 933 SAIhMT =T TSl

33.

Il SwEdeH Hivar Afaelt faEra
ST, Hifgdiae, WY fhar Ve, O wa
Thd I T Tehd BId. STRMURR,
AYNgHhTHe HERATAT Tod®w AU
faSeiea ciehrel & Bdl. GeIeeh™
I Hifgdl=a foeersor w8 w9 ?

(A) A-wlifermt

(B) a9-3 el

(C) HA-TRAIR =it

(D) e

et o fasm el 31ed; Tehren Jfade=

(A) 3T FalHat 318 71 8- &R0 (R)
I FAYA AR

Yfaares (A) : 9gF © HaF Y
Hald favaaia U™ 3=,

HROT (R) : forRumdicl TRIBT S Helid
ST SRERAHE Al e SIgeteh 3T RU.

T faemren Teuid, Eeiiciish! shivd
IW TR 3T ?

HE :

(A) (A) eTfr (R) SR @R 3Ted, T
(R) T (A) 3 I TR TRl 3T

(B) (A) @ (R) TI=t 9 3ea 101 (R)
T (A) 9 IrT TR 2T

(C) (A) TR 38 W (R) T 9 3TQ
D) (A) 3T 3 901 (R) § B 3T

11
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34. From the following choose the correct | 34. @rciiciust arg faum faer
statements : faam-1 : 9ueEd= 9H=mon _ZLE% e et
Statement-I : The standard error
of mean decreases in direct o FHl T
proportion to sample size. ferem=-11 - STl s 3L st =
Statement-II : The standard error faqooma g9 fa=e.
of mean is the standard deviation fam-111 : Tiferst © eregeis
of the sampling distribution.
Statement-IIT : A Statistics is a afereer s
characteristic of a population. wE :
Sﬁ‘;dgzl I and II (&) o 1 e 11w e
nly I an are true
(B) Only I and III are true (B) e I 3T III T e
(©) I, II and III are true (C) L, II &Aifor 11T ¥ &Tled
(D) Only II is true D) w11 ¥ 3T
35. Match List I with List II and select | 35. =t I @ At IT Sezan 2mfon @rett feeiesn
the correct answer from the codes WT{ I IW FEeT
given below : a1
List I (a) F-=m=rof
(@) F-test (b) FH wewe g
(b) Measuring central tendency (¢) TEgeumEt ==
(¢) Test of correlation () SR A
(d) Measuring variability TR 10
List IT () WEESUE WU
(i) Coefficient of correlation Gi) s e
(z1) Standard deviation (i) ST
(zii) ANOVA )
: . (tv) A&
(fv) Median Fre -
Codes : ’
(a) (b) (C) (d) (a) (b) (C) (d)
A GO Gi) G) Go) (A @) G Gi) (Gv)
B) Gi) Gv) @ G) (B) @@) Gv) @) @)
(C) Gv) @) @) @ (C) (v) @) @) @)
D) @ @& @) @) D) G) G Gv) G
12 [=] &% [=]
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36.

37.

38.

Assertion (A) : The statistical
approach to prediction is through

regression equations.

(R) of
predictions rests on the magnitude

Reason Accuracy

of the correlation.

In the context of above statements,
of the
statements is correct ?

(A)

which one following

Both (A) and (R) are true but
(R) 1 the
explanation of (A)

Both (A) and (R) are false

Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(D) (A) is true and (R) is false
To assess aggression in U-19

1S not correct

(B)
©)

national kabaddi players, which
sampling technique will be used ?
(A) Random sampling method

(B) Cluster sampling method

(C) Stratified sampling method
(D) Purposive sampling method
What is the purpose of a pilot study
in research ?

(A) To collect final data

(B) To test research instruments
(C) To analyze data

(D) To report findings

36.

37.

38.
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gfaurea (A) : ¥TRId HITITHTS
Gfeganta gftehiA Ufme TeieRongR ol
i

®RUT (R) : «ifwar=El  srghdn

T faum=n g4, Tefiedeh! Shivrd
faum ale] e ?

(A) =TT (R) T8t 9 3T, g
(R) ® (A) = 7 TSI TRl

(A) 3Tfor (R) Sral 9 3Ted

(A) =TT (R) Sl I 3T 110
R) ¥ (A) 9 IrY TR 3

D) (A) FF 38 A (R) THA 37>
JuiErea U hage! Tae =l
HhHhdd oA HITAHIS! HI0
o 93 9 SEd 2

(A) agfs =Ry usd

(B) T =RIH 95d

(C) wigd =RyE dsd

(D) FRqH =ARYA Ugd

TYNYAT UGN STl ST 1Y
e ?

(A) ifqq mfedt el SHLoamEE)

(B) TENEM QIEATN |TEOl STy
(C) wifeca faversor SIvardre!

(D) frshof=n 21eamel IvaMIS!

(A)

(B)

©)
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39.

40.

Observational studies are most

useful when :

(A) You want to gather detailed
insights on behaviors in natural
settings

(B) You need to collect numerical
data quickly

(C) You prefer participants to
answer open-ended questions

(D) You want to control all variables
in the study

The process of training targets the

development of specific attributes,

these specific attributes include :

(@) Multilateral physical

development and sport-specific

physical development

Technical skills and tactical

)

abilities

39.

40.
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frieroeas S1eag gafd IUgE STRd
SEJIR
(A) Treten F9fifer STdreRoT adAeR

e a9 TMedl hiF= e

(B) THIe T&ATHS Hifad! @d el
H SAETTF TR

(C) TR TR Hod WA S SUa™
TE= el

(D) qwIe A 96 9a
HI 3

gfererom=nt gfsren faferse quremt=an

TfoeRTTen @& S, A fafirse quremiae

T FHIfa g

(@)

AT wRiftw fawr@ snfo
HredafiTe iR fawm

(b) dif hivTed ST STHU=TCHS

&THdT
(¢) Psychological characteristics © W@HWWW
and health maintenance
TETA
(d) Injury resistance and .
: (d) s wfaswr et dgifas =
theoretical knowledge
(A) (@) and (¢) only (A) ®H (a) AT (c)
(B) (b), (c) and (d) only (B) wH (b), (c) =0T (d)
(C) (a) and (b) only (C) WK (a) AT (b)
D) (a), (), (c) and (@) D) (@), (B), (c) 3 ()
14 [m] 2% [x]
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42.

43.

Training for sport results in
physiological adaptations that are
specific to the
(@)
®)
(c)
(d)
(A)
(B)

Activities movement pattern
Metabolic demand

Force generation pattern
Contraction type

(a), (b) and (d) only

(a) and (c) only

(C) (a), (B), (c) and (d)

(D) (a), (¢) and (d) only
Specialized training will be
that will lead

to a faster rate of adaptations and

dominated by ................
ultimately to greater levels of
performance.

(A) Drills and techniques

(B) Basic exercises

(C) Fundamental movements

(D) Practice

Technique is developed based on
athlete’s
(@)
®)

Abilities

Physiological and mechanical
characteristics

(c) Socio-economical characteristics
(d)
(A)
(B)
©)
(D)

Level of development
(@), (b) and (d) only
(), (¢) and (d) only
(a) and (b) only

(@), (b), (c) and (d)

42.

43.

JUN - 71225/I1—A

...........

(@) SUHATA A T
(b) == AW

(c) WestTHT THA

(d) H=A THR

(A) & (a), (b) 0T (d)
(B) WK (a) AT (c)

(©) (a), ), (c) 20T (d)
(D) K (a), (c) M (d)

................

(A) & (a), (b) =0T (d)
(B) ®H (b), (c) M (d)
(C) & (@) 0 (b)

D) (a), B), (c) 0T (d)

15
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44.

45.

46.

The basis of any successful tactical
plan regardless of the sporting
activity is a high level of ..............
(A) Technical proficiency

(B) Strategy

(C) Recovery

(D) Overload

The

training volume varies

according to the ..........ccceeveeeee..
(@)
)
(c)

(d)

Sport and training objectives
Athlete’s needs and training age
Athlete’s stage of development
Phase of the annual training
plan

(@), (b) and (c) only

(a), (¢) and (d) only

(@), (b), (c) and (d)

(b) and (d) only

(A)
(B)
(C)
(D)
.................... is associated with
physiological and phychological
signs of maladaptation.

(A) Over-loading

(B) Over-speeding

(C) Over-reaching

(D) Over-training

JUN - 71225/I1—A

44, ¥R YHR foar 7 Oar wIvcme! Jerst

45.

46.

SAYAIHh STl 3R &l 3= BRI

...................... T4l

(A) dqifseh gaftora

(B) oIt

(C) gAwiwit

(D) SIETHR

FRTETOTET AT (STRRAM) oo TR
A

(@ T o7 gl 3fes

(b) TR SO GO 9y
(c) Ueciie=a foepmamn o

(d) arfSer gftreor AsH=n 2o

(A) &K (@), (b) =0 (0)

(B) W (a), (c) 30T (d)

(C) (), (b), (c) =T (d)

(D) K (b) S (d)

TR S TR ST
HARGR Ao Fefed e

(A) 3frestenten

(B) sfreeediten

(C) sfeerfRf=m

(D) gt

..............

16
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47. During the .................... phase, the | 47 ... T R THOT Ty ST
quantity of work is very high and ST ST TR S S STy
the intensity of work is low and A .
Auring . phasehas ahigher |~ Z0Td Rl dielal fehar
emphasis on intensity or quality of TUTETeR SIT& R ST,
work. (A) TR, Taerfcash
(A) Preparatory, Competitive (B) wadieT, qardt
(B) Competitive, Preparatory .
(C) Competitive, Transition (C) Frafe:, HeFT
(D) Transition, Preparatory (D) HeRHu, TAd

X is an important tool inthe | 48, ................. Uehdl HAEITIATAA Teh
management of fatigue that e WU ST, 9haT ST TivTery sqifoy
accumulates in response to e qRoT sRer, W s
physiological, psychological and 9 . : _—
sociological stressors resulting from
training and competition. &
(A) Periodization (A) g
(B) Adaptation (B) &I
(C) Overreaching (C) slregtfiif=m
(D) Reversibility (D) e

49. Component of agility is perceptual | 49 feiirgeR=l SeF WUN SHeTad
decision-making, which is related to forofa A9, & whafwa 9 Rl feageret
reaction time or visual scanning, T, ST, T e S TR
anticipation, pattern recognition and . ..
knowledge of situations. This has T A Wfﬂﬁ IE. A o
been termed ................. agility ﬁ{ﬂTFﬂ'ﬂ'@IHT S FATA S
(A) Retention @) fevm
(B) Reflection (B) wfeifsist
(C) Reaction (C) gfafsran
(D) Reactive (D) wfaferameie

17 [m] 2% [x]
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50.

51.

52.

53.

A progressive non-linear reduction
of the training load during a
variable period of time, in an attempt
to reduce the physiological and
psychological stress of daily training
and optimize sports performance
is
(A) Adaptation

(B) Recovery

(C) Supercompensation

(D) Taper

The structure and content of the
determines the quality of the

training process.

(A) Mesocycle

(B) Macrocycle

(C) Microcycle

(D) Individual cycle

is a complex set of
interdependent skills that converge

for the athlete to respond to an
external stimulus with a rapid
deceleration, change of direction and
reacceleration.

(A) Speed

(B) Agility

(C) Flexibility

(D) Power

A scoring scale used to assess
student performance along a task-
specific set of criteria is called :
(A) Rating scale

(B) Questionnaire

(C) Question paper

(D) Skill test

50.

51.

52.

53.

JUN - 71225/I1—A

Hfe wfrermdia IR enfor amfas
0T S} HLOIETS! A7 TSl HEYEYH
37_:[,%?‘[ hITIT=IT GIcHATd, dgedcdl
HIAEEd FRTHUT=AT YR Wi
MET ¥ RIS
(A) TIW

(B) gAurwit

(C) HUThITHTH
(D) W

.................

......................

(C) HIHERIHA

Sfed |9 e Sl Coeiied ded IS
TS T, fE9 agerol AT ERumHg
Jfae SUIAES! ThAd gl

(A) =

(B) feemfyger

(C) <Aaferehd

(D) il

FEARE FedTR HITATEEST AT
SR UM IS U

(A) wefe=Ea gof

(B) STl

(C) geUfRT

(D) HRA HHRl

18
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54.

55.

56.

57.

Which test can be administered by

mass testing method ?

(A) Vertical jump

(B) Bent knee sit ups

(C) Medicine ball throw

(D) 30 m flying test

Which of the following instruments

is used for cadence in step test ?

(A) Metronome

(B) Anthropometer

(C) Skinfold caliper

(D) Stadiometer

AAHPERD Basketball skill test does

not include :

(A) Speed spot shooting

(B) Controlled dribble

(C) Defensive movement

(D) Forward pass

Which of the following statements

is NOT correct ?

(A) Normative tables provide the
means to compare individual
performance with a large
population

(B) Norms should be current and

update

(C) Norms are naturally occurring

normal value and the normal

ranges cannot be modified by
expert

The should be
representative of population

(D) norms

54.

55.

56.

57.

JUN - 71225/I1—A

HHE YSHCH I hEel Tedel S
hd ?

(A) SHEEA 39 ISt

(B) = 1 fae 1=

(C) FSHEH dfa o

(D) 30 H TAET T

T TR HSHAS! WeAeTdeh! hIvd
YT IR Sd ?

(A) HeAM

(B) THTOHIX

(C) FFTwlce &fam

(D) wfesiiex

AAHPERD W& &Iald  H1yed
TEUHS § GHGS A6

(A) wre wie e

(B) Tt fgaa

(C) SaERHS greaTe

(D) ®EE IH

ETefiedeh] o faem aieR @ ?

(A) A& Hicul SHaEavi dafes
HHARET T Hodr |EH g™
S {dld

(B) Heh I S0 ST STH1ed

(C) A& & it 9= qod
3foT foaR 18T ST O qeigan
STl SIS ¥ ATEId

(D) 9% SO UidHeE Hom
3TEd
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58. Match the following physical fitness | 58. Tcilal IRI® Fgeal ®eh AT
components with their respective Tafyd ar=oaieh ool :
tests : 't’TITﬁ I

List T (@) EEE =
(@) Muscular strength (b) Tty
(b) Agility (© TR HEe
(¢) Body composition d) 3=
(d) Balance T 10
List II (1) W HeE 3T
(1) Skinfold test ©2) @ TR
(2) Plate tapping (3) STiq ST&d 1 e
(3) 1 Repetition max @ fEm e
(4) Zig-Zag test 5) T i
(5) Bass stick test Fre -
Codes :

@ ® © @ (@ b)) @©
A @ @ 1O 6 A @ 2 @ &)
B) 3) 4) 1) ) B) @ @ QO &)
) @ @O 6B 3 < @ @ 6 B
D) 1) B @ @ D @ B G @

59. Which somatotype is associated with | 59. !0l IR TN (Somatotype) TR
a higher tendency to accumulate Felt ST 0T I=d WA Helted
body fat ? e ?

(A) Ectomorph (A) TRHE®
(B) Endomorph (B) T=MH®
(C) Mesomorph (C) HEMH®
(D) Hypermorph (D) BEITHIE
20 [=] % [m]
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60.

61.

62.

Which of the following is NOT part
of item analysis in knowledge test ?
(A) Item difficulty

(B) Responce quality

(C) Item complexity

(D) Discrimination power

When formative evaluation is
typically conducted in the
educational setting ?

(A) At the beginning of the school
year

Throughout the instructional
process

After the completion of a course
During standerdized testing
periods

Match Column I with Column II :

Column 1
(@) Planning
(b) Programming
(¢) Budgeting
(d) Evaluating

(B)

©)
D)

Column II
(1) Determining how adequately
budget fits the program
(z1) Establishing clear goals and

objectives
(zii) Developing activities and
events to produce

distinguishable results

(v) Allocating resources, financial
plan

Options :
(@ b)) @

A @ @) @G (o)

B) @) @) (v @

(©) @) vy @ @)

D) @) @ @@ G

60.

61.

62.

JUN - 71225/I1—A

RIS HIA [E ATavidid Fere
Toeeooen WM ARl ?

(A) YT wHIfSUadTde]

(B) faeksishr= dROmHRRERAl

(C) e forersean

(D) YAl AT eTHd
erforer  SdTeRoTd HHE; SR

HeIHO el el STd ?

(A) Serforr gufen geaTden
(B) Hyvl Srerforer gfeRAeT=M
(C) IATHRA U SATAHM

(D) JHIfoTd =T=ON SHTeaEt S
wWy I = SEt WY I seR ool
wWa I

(a) TraSH

(b) FEFH

(c) SIS

(d) qeHH

wWy II

() SERAERE AeNIAE fohdl A
ame § fruffa o

(i) T 2 S sl geefd S

(i11) IO fehTet fHa3vamae! Susha
afifor Rl (events) fashm
w0

(fv) FAEAT 91T 0, A1fede e
w0

o)
(@ ) @© )

A @& @) G ()

B) @) Gi) Gv) @)

(C) @) ) @ @)

D) Gv) @ G @)
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63.

64.

65.

66.

Which of the following is not a
financial budget ?

(A) Sales budget

(B) Cash budget

(C) Capital budget

(D) Budgeted funds flow statement
Which of this is critical and
educational responsibilies of Sports
media ?

(A)
(B)

Sound Manipulation
The use of drugs and inhuman

training practices

(C) Adaptation to sports time-table
(D) Regulations adapted to
television

................. is anything that an
organization owns that can be used
to generate future revenues.

(A) Profits

(B) Income

(C) Assets

(D) Equity

A formal organizational structure is
based on :

(A) Hierarchical job structure

(B) Team based approach

(C) Authority with responsibility
(D) Duties and rights of personnel

63.

64.

65.

66.

JUN - 71225/IT—A
WIATAUeh! hIUg A SesTasieh el ?

(A) fas= _S9Th

(B) UG eSS

(C) Wigaal 3TeTSIYseh

(D) sierrER fret vare faar

ATHT BIRCH FTST A fafhn

afor eforer oA TRd ?

(A) &I HIHER

(B) g7&=1 o FHFATA  gfRaro
TS T

(C) ISl JIITHRIN THEISH

(D) r=Emiieh Jedad sactdd o
TN Hegel Scd1 IS HE=

(D) GHYTT

A=Tfieh e AT AR emRa
I

(A) gfterg ARl FT=

(B) wWiftlh SMYR Jag

(C) SEEERIE 3feehR

(D) aeA ST i ATRR

[=]#% =]
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67. “Physical educator’s and sports | g7. ‘‘urifies foreror forerses omfor sret
managers must continually and SERATTH T S Seardia)
enthusiastically reach out to their .. .
respective publics.” Which principle R e Wfest.”” A AR
of marketing physical education is foreor foquAT @i T W& B 2
referred here ? (A) TESH <
(A) Customer principle (B) T T
(B) Competition principle
(C) Practice principle (C) & qw
(D) Cross-functional principle (D) HE-HRMEA T

68. Clerical support, communications, | 68. FAfhal TUR, HYH, ﬂﬂ?ﬁh‘ﬁﬂ, et
book-keepings, purchasing and ST TN oo T 9 ST
distribution are part of : (A) T STHR g
(A) External support systems X )

(B) Extensions or ancillary spaces (B) foRaR fohell Sufi S
(C) Maintenance (C) T@A
(D) Internal support system (D) 3@l SMER JoTett

69. Statement-I : One of the most | g9. faerm= I : =gadl =sgITLYd  ATfoT
important functions of recreation FHHEEN TEY STUa] AR guTet
facility managers is managing w1 O ¥ TR g e
personnel and working effectively -
with people or employie relations. i R . )
Statement-II : Facility manager’s Forem 1 : e e o Hoe
shall create number of associations TR He e o *{HU}"‘“ TSI
that work to enhance the ALY JE[IUIMHIS] hid hdd.
management of recreation agencies. A) faum 1 9@ 3R, fau™ 11 § 9
(A) Statement I is true, statement e

I true (B) faer 1 o1 3%, fareret 11 % s7ect
(B) Statement I is false, statement o
IT is false
(C) Statement I is true, statement (C) fow 1w e, T I1 & o7t
IT is false e
(D) Statement I is false, statement (D) faerm I e/ec o7g, faum I © 9
II is true EIE
23 [m] 2% [x]

Of



0|

70.

71.

72.

73.

In case of outdoor swimming pool

construction of rectangular are most

popular because :

(A) Provides safe environment

(B) Easy to control

(C) Easy to fix equipments

(D) Practicality of conducting
competitions

Which of the following is not one of

the contents of organizing ?

(A)

(B)

The development of leadership
The
classification of required

identification and
activities

(C) The grouping of activities

necessary to attain the

objectives

The assignment of each group

to a manager with authority

(D)

necessary to supervise it
Direct instruction, formal authority
on the learner is example of :
(A) Student centric approach
(B) Teacher centric approach
(C) Kinesthetic approach
(D) None of the above
Technology in education refers to :
(A) Use of Instagram
(B) Use of
advancements in equipments,
material and machines for
education
Use of mass media in education

technological

©)

(D) Use of social media

70.

71.

72.

73.

JUN - 71225/I1—A

THTSIIR AAATT qeITd ATIATFR A

SR e Tl Teh v ST

RO

(A) FUHd ST GSHE hid

(B) fafaa weor 9

(C) HE sFaEen |

(D) i TS OIS AR

Tk HI0Td TS hiugT=AT

et ©w AT ?

(A) Aqar=n faem

(B) 3Ta¥IF IS i@ STl
ERiETu|

(C) 3fEse Aeg FITIEIS MavTH
SYHAT T

(D) Y& Tere G HITATHTS!
ATaygH  ATTHIT FITWA AT
HaATehTen e hTl

TAeT STRYM YT fageneatar sto=nfie

gFh § HIME SR AR 7

(A) faganet &=t TgHa

(B) s &=l uqHd

(C) fewmaraHt gftesd

(D) STkl hTEE! el

fremdia e Ty oTe

(A) RO 9T

(B) fereromamdt suentul, difeca emfor
FAHLY Ak W= aTR

(C) foreromqed A9 Hifeamr=n amm

(D) 9T Hifedam=n arQ

[=]#% =]
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74. The concept of Curriculum
development excludes :
(A) Learning Goals
(B) Societal Goals
(C) National Goals
(D) Self-Goals
75. A quality physical education
program should :
(A) adapt local culture and festivals
(B) avoid national standard or your
state standards
(C) provide opportunities to develop
sports skills and to understand
rules of sports
(D) develop program to achieve
personal goals
76. The Autonomous Stage of learning
motor skills learner :
(A) Try to deligently understand
and perform the skill correctly
(B) Notable improvement occurs as
learner progress from the
cognitive stage to motor stage
(C) Demonstrate the fundamental
mechanics of each skill learned
(D) able to perform the skills
effortlessly

JUN - 71225/I1—A

74. 1EHA faewRTE=A Hheddd § TR

75.

76.

(A) T 2

(B) gt 3fewe

(C) T Sfewe

(D) @F-21

TorerTyel YRIE fRier wEw

SICIR

(A) THfTen TEHel ST ST oo
oy

(B) UST ures fehell 3Tt W59 A
213

(C) HIel YD fahfagd Hoam]
S Ceord FH TS SvaEEH
et geH H0!

(D) dafoasr sfese drem wTvamrane
i fasfaa o

FTTH HIvTeD rhvar=T Toa=afad

o

(A) HITE THSH Hvar=n i Grafien
TR qEUAET YIS

(B) ST ST HNh STaEed
RTeRom=A=i Wt B STE A&
YR B

(C) Terehcicdn U&® HIRTea™ JAyd
RIECIIRENCEER

(D) R FESaH IR IEUA™ G&H

25
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77.

78.

Match the generic levels of skill
proficiency with appropriate
teaching styles :
I
Pre control
Control
Utilization
Proficiency
II
Teacher feedback and divergent
discovery
Direct, teacher feedback,
partner feedback
(zii) Direct teaching, teacher
feedback, partner feedback
(tv) Direct teaching self-feedback,
convergent discovery, divergent
discovery
Choose the correct answer :
(@ b)) @ @
A @ @) @) (o)
B) @G @) Gv) @
(©) @) G@v) G) @
D) Gv) @ @) Gid)
Devices such as electronic blood
pressure machines, heart monitors
and pedometers help students
learn :
I. More about scientific side of
fitness.
Helps to compare with more
sophisticated and expensive
devices.
Motivate students, increasing
their knowledge of exercise
physiology.
Select the correct answer from codes
given below :
(A) Both I and II
(B) Both II and III
(C) T and III
(D) Only I

(@)
b)
(c)
(d)
@)

@i1)

II.

I1I.

77.

78.

JUN - 71225/I1—A

A ST AR hRIed Wifervade
HH Uidedl el

I
(@ 9o frEsm
(b) T
(c) TIM
(d) wifaug

II

(@) Toee efyum onfor S oy

@) vcae, foees sfvyum, SiEiRR
A

(i) gcael Aearad, fonern etfyum,
SRR 3T

(jv) 92 IEATA, W-3fuym, faeR
Y, = Wy

I R Faer .
(@ b)) ©

(A) @) (@) (@) (o)

B) @) @) Gv) @)

(C) Gir) Gv) Gi) @)

D) @) @ @) @)

Terey ageR faganeff § fmeedl .

I Ygedsl e o,

1. 9 STfoT HERT |eAT= gerl ol

I11. fogeneat U@ &3, =AM IR
foam = JF e

el feeiean wienyd ara W e .

(A) 1 sufor I <<t

(B) II smfor III Sr=t

(C) I smfor III

(D) w1

26
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79. Match group A and B : 79. e A 3TV B S :
Group A ) T A
(@) Long distance run (@) S SR e
() PNF () H.THTH.
(¢) Cone drills () = fged
(d) Single leg stand (d) TH UEER I [EW
Group B e B
G) Agility Ef)_) %9" e
(iz) Balance (l,l,,) S
(@11) C.V. endurance (l'u)
(iv) Flexibility ”’): Eo'a”aa“f”
Codes : ’
A Gi) Gv) @) Gi) (A) @) @v) @ @)
B) (i) @) Gv) @) B) @) @ Gv) @)
©) & G Gov) (i) © @ @ Gv) G
D) Gv) @) G @ D) () @) @) @)

80. The portion of physical fitness directed | 80. 3= cig{z«ncu qqunl ShTOTC ‘ITIT[
towards the prevention of or MA@ fohal GHaEA, Said
rehabilitation from disease, the sTavasd M forershyut et 5o
development of high level of functional TIdesr=n ke T fashrd WRTI’O‘T
capacity for the necessary and R Ser S
discretionary tasks of life refers as : EA; shrel-fafeme wmife fhet
(A) Sports-specific physical fitness B) ®RMA THSTH
(B) Functional fitness (C) eTrarell weifed YR fhe @
(C) Health related physical fitness (D) a8 |e
(D) All of the above 1. F o o Ry aqifir

81. Which amino acid enhances and 81. Hl%ql@l?q e
strengthens muscle as well as helps T TS R TR foEre o)
to slow the breakdown of muscle
during exercise ? FIAE FA F 7
(A) Conjugated linoleum acid (A) Fgfima farifaam €fae (CLA)

(CLA)
(B) Carnitine (B) wffe
(C) Hydroxy methyl butyrate (C) Tl fhasa =2Re (HMB)
(HMB)
(D) Chromium (D) shifFem
27 [m] 2% [x]
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82.

83.

84.

85.

86.

Which nutrients is essential for the

formation of hormones and cell

membranes ?

(A) Proteins

(B) Fats

(C) Vitamins

(D) Minerals

Talk test is generally used to assess

the exercise intensity for :

(A) Obese individual

(B) Active women

(C) Highly reconditioned people

(D) Old age people

Which organ is particularly affected

by a sedentary lifestyle, leading to

increased risk of diseases ?

(A) Liver

(B) Heart

(C) Kidneys

(D) Lungs

What is the primary objective of

public health ?

(A) Individual treatment

(B) Disease prevention and health
promotion

(C) Medical research

(D) Emergency response

What is the primary purpose of

carbohydrate loading before an

endurance event ?

(A) To increase body weight

82.

83.

84.

85.

86.
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T 7T Yefien gegaren MHfHdaTdt
IR HIVA NTF HTH YT
R ?

(A) gfed

(B) =Rsll

(C) Siere™

(D) @

e SN AR TR 1 ko] R
okrel Hedeh ShUaIG! ehell STl
(A) <33 il

(B) wfsha wfget

(C) I=a guid ok

(D) 959 i

3t fagiom: S TaEa
garfaa gial, Sares UM &l
el ?

(A) Fhd

(B) &4

(C) THfts

(D) ®FRH

eSS Wigfhe 3w
A ?

(A) Safadd ITAR

(B) I wfqey omfor 3R TER

(C) STHIT TEeH

(D) YR gfdEms

THCRION IUHHY HTETEEge AfeT
HOAMET WIATHE YT HE M ?
(A) YRR a5H FETUAEE

(B) THGRYUTE! hHTA&Hdl AGavardIe!

(B) To enhance endurance - N N N
(C) T@ATdrd FTBRET Urdesl HHI
performance
(C) To reduce blood sugar levels FITITS . .
(D) To decrease hydration (D) TEASIT AT HITATIS]
[=] &% [=]
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87.

88.

89.

90.

During prolonged exercise, what
should athletes consume to maintain
hydration and electrolyte
balance ?

(A) Carbonated drinks

(B) Alcohol

(C) Sports drinks

(D) Water

What is the primary role of protein
in a sports diet ?

(A) Energy production

(B) Building and repairing tissues
(C) Regulating body temperature
(D) Enhancing flexibility

The technique in which selected
behavior is identified and observed
for a specific time period is :

(A) Duration recording

(B) Event recording

(C) Interval recording

(D) Group time sampling

In which of the following teaching
styles, the learners with varying
degrees of skill development are able
to participate in a task designed for
multiple degrees of difficulty ?
(A) Reciprocal style

(B) Command style

(C) Inclusion style

(D) Self-check style
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JTE AT, g v eArfur
SoleRIeTee T TQUIHe! Sl
=9 ?

(A) FEMHEE T

(B) <=

(C) shiel W

(D) aroft

HIS! AR Y= mafqen yfien
HE AR ?

(A) = 3IcRA

(B) T SRt SAIf0T gEl

(C) ¥R aowH fEf@a s

(D) Adf=ehal sl

fafrse sremaiEE! TeR 9 Sieer
Tieror AiGT el WA o a9 WO
(A) et e

(B) ®e1 it

(C) AR gt

(D) JU <TEA HEAT

eleTieh! hIureT 31eATad Sefta, fafay
Fivrea fawma s famned sme
ST STATTAS =1 SIATd He9Tl 8%
ITehdld ?

(A) == el

(B) gHA Vel

(C) wegwERTh et

(D) @-wi&o et
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91.

92.

93.

94.

95.

Identify the characteristics of

dysgraphia and select the correct

option :

(1) Cramped finger on pen

(@1) Irregular letter sizes & shapes

(zii) Excessive erasures

(tv) Decreased or excessive writing
speed

(A) @), Gi), (D)

B) @), (), D), (Gv)

(C) O, @), (v)

D) @), Gv)

WHO defined health as “a state of

complete physical, mental and social

well-being and not merely absence

of disease or infirmity” in the

year

(A) 1948

(B) 1950

(C) 1952

(D) 1954

Which one of the following is NOT

the type of autism ?

(A) Asperger syndrome

(B) Pervasive developmental
disorder

(C) Ataxia

(D) Childhood  disintegrative
disorder

Inherent interest and urge

means :

(A) Extrinsic motivation

(B) Intrinsic motivation

(C) Calm

(D) Satisfaction

Insight theory was performed by :
(A) Kohler

(B) Watson

(C) Thorndike

(D) Pavlov
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(i) SeEEd U9 &

({i) ST&W=1 AHR g A

(i) AfTE @rerEs

(v) 99 forar Afafea Sog femammn
T

A) @), Gi), @)

B) @), Go), (1), (tv)

(©) @), i), (v)

D) @), (Gv)

T T 3T A SR e |t

IR, A A0 GrEifses et

et snftr dhaes I fhen gawarE]

STafeerdt At o feet.

(A) 1948

(B) 1950

(C) 1952

(D) 1954

EICTUeh! IO THTET YR AR 2
(A) STHGR fa<H

(B) Wfoa Swatdea feqsiiet
(C) sieforman

(D) FrEEdde fageTsia faer
L SN 3991 9 SN Thal 3TEd
AT kI U ?

(A) dfetia Lo

(B) efarfd Hwom

(C) zmmaan

(D) GHIY™

AHgE s fagerd & wivi shenm ?
(A) hIgeR

(B) dfedd

(C) ofiers

(D) Ygcileg

...............
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The mental process of knowing,

including aspects such

awareness, perception, reasoning

as

and judgement means :

(A) Emotional process

(B) Social process

(C) Cognitive process

(D) Functional process

What is the other name to Attempt
and Error Theory ?

(A) Conditional Response

(B) Stimulus Response

(C) Trial and Error

(D) Insight

The process of affecting permanent
changes the
behaviour means :

in individual’s
(A) Learning

(B) Teaching

(C) Motivation

(D) Process

Which one of the following is a more
appropriate technique to guide
visually impaired students ?

(A) Direct teaching

(B) Computer aided teaching

(C) Sign language

(D) Human guide technique
Which of the following vitamin helps
in blood clotting ?

(A) Vitamin K

(B) Vitamin C

(C) Vitamin D

(D) Vitamin A
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S ST, SR, SHRUHHET F 31T
T FHER Bl e T WU
(A) wrETcHe:  Fisha

(B) wrHTfSIeh Hfshan

(C) =hurcaes wfsha

(D) forareHss wfshan

YId YHIS ULl ATAT EL AT
HUd ?

(A) sIfvSa sAfyEy™

(B) = Y@

(C) ekt 3ifur feTeht

(D) wHg= e fagera

IS I TSaiall s &
YURUcHS decl oSl

(A) I

(B) JrEF94

(C) oM

(D) ik

gftegomen forneata ARfee FHevame
qEleTieh! IV o STfeh arg TR ?
(A) JI& 3AA

(B) TV STRA STEATH

(C) dehfaer oo

(D) wHet AFleElR T

Tad MBTATd WITATATHT  h10TeT
STaTaar=l qed ®d ?

(A) H-SterEa

(B) Hi-Sierg™

(C) Ei-Siead

(D) T-SieTgE
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